Given that max. Torgue transmitted

T:=1100 N-m D:=50 mm p:=0.15 L:=25 mm Dg:=18.5 mm
5 -3
Dio:=130 mm E:=2.0.10" MPa R,:=04.10"" mm
F 7.2 —( N
Tangential *—+ * ={4.4-10
D
F ; F
Tangential 5 Normal
F = AR _ (2.933.10°) N pi=—o" — 74,697 MPa
Normal
I meDe L
/— b — 2\
Contact Pressure (WCS) 118.858 Contact Pressure (WCS) 132,043
(MPa) 100.000 (MPa) 100.000
Location: Components and Layers 90.0000 Location: Components and Layers 90.0000
Loadset:LoadSet1 : FEM Step 2, Time 1.0000E+00 80.0000 Loadset:LoadSet1: FEM Step 2, Time 1.0000E+00 80.0000
70.0000 70.0000
60.0000 ® 60.0000
50.0000 50.0000
40.0000 > 40,0000
30.0000 & 30.0000
20.0000 200000
10.0000 10.0000
0.00000 0.00000
0.00000 0.00000

"Window1" - test_contact - test_contact "Window 1" - test_contact - test_contact




